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Model Test For NETEM

Section [ Listening Comprehension

Directions:

This section is to test your ability to understand spoken English. You will hear a section of recorded
materials and you must answer the questions that accompany them. There are three parts in this
section, Part A, Part B, and Part C.

Remember, while you are doing the test, you should first put down your answers in your test booklet.
At the end of the listening comprehension section, you will have 5 minutes to transfer all your
answers from your test booklet to ANSWER SHEET 1. (20 points)

If you have any questions, you may raise your hand NOW as you will not be allowed to speak once
the test has started. Now look at part A in your test booklet.
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% PartA
Directions:
You will hear a monologue talking about American baseball’s past and present in this part. Listen
to it and fill out the table with the information you have heard for question I~5. Some of the
information has been given to you in the table. Write only one word in each numbered box. You will

hear the recording twice. You now have 25 seconds to read the table below. (5 points)

Baseball players used to be regarded as roles .
They played the game because they love it, not for .

Today, some players charge 208 for an

No longer is baseball the great national .

If players today stop worrying about who is making most money.
The public would start the game again.

% PartB
Directions:
You will hear an interview on people’s attitude toward different professions in this part. For
question 6~10, complete the sentences or answer the questions while you listen. Use not more than
3 words for each answer. You will hear the question twice. You now have 25 seconds to read the

sentences and questions below. (5 points)

Most jobs seem to be attached to an image or . ( | 6 ]
Young people often chose their jobs under the influence of . | 1 7]
How did they investigate children’s attitude 8
To different professions?
What are the 3 kinds of engineers they mentioned? i | 9
What were children asked to say about each statement? [ 110]
% PartC
Directions:

You will hear three pieces of recorded material. Before listening to each one, you will have time to
read the questions related to it. While listening, answer each question by choosing. A, B, C or D.
After listening, you will have time to check your answers. You will hear each piece once only. (10
points)



Questions 11~13 are based on the following talk on the Open University. You now have 15 seconds

to read questions [11~13.

11. What is the Open University?
[A] It is a university for people in prison.
{B] It is a university for students from middle-class families.
[C] It is a distance educational system.
[D] It is a university for free education.
12. How many students graduated from the Open University in Britain every year?
[A] About 40,000. [B] About 6,000.
[C] About 60,000. {D] About 25,000.
13. What is not included in the teaching activities of the Open University?
{A] Special TV and radio programs.
[B] Correction of the student’s written work.
[C] Lectures and talks.
[D] Group discussions class.

Questions 14~16 are based on the following talk on how to prevent near-sightedness. You will have
15 seconds to read questions 14~16.

14. What was the profession of Mr. Bates?
{A] He was a doctor. [B} He was a writer.
[C] He was an actor. [D] He was a teacher.
15. According to Mr. Bates, what should people do to protect their eyesight?
[A] Press certain points around the eyes with the fingers.
[B] Look at distant objects by moving the eyes from side to side.
[C] Do outdoor exercises daily.
[D] Stare at a calendar on the classroom wall.
16. According to the speaker, what should the teachers and parents encourage their pupils to do?
[A] To read the book by the famous British writer.
[B] To cover their eyes during a period of intensive reading.
[C] To visit doctors of traditional Chinese medicine.
(2] To relax their eyes frequently while reading.

Questions 17~20 are based on the following talk about paper. You will have now 20 seconds to read
questions 17~20.

17. Which of the following is not mentioned about the invention of paper?
{A] More jobs could be provided than before.
[B] More people could be educated than before.



[C] More books could be printed and distributed.
[D] More ways could be used to exchange knowledge.
18. When did the Egyptians begin to use paper widely?

[A] Around 1400 {B] Around 400
[C] Around 1900 [D] Around 900

19. Which of the following countries uses more paper for each person a year?
[A] China [B] Sweden [C] Egypt [D] Japan

20. What is the main idea of this short talk?
[A] More and more paper is being consumed nowadays.
[B] Paper enables people to receive education more easily.
[C] The invention of paper is of great significance to man.
{D] Paper contributes a lot to the keeping of historical records.

Section I Use of English

Directions:
Read the following text. Choose the best word(s) for each numbered blank and mark A, B, C or D
on ANSWER SHEET 1. (10 points)

Large companies need a way to reach the savings of the public _ 21 . The same problem,
22 a small scale, faces practically every company trying to develop new products and create
new jobs. There can be little __23 _ of raising the sums needed from friends and people we know.
And _24 banks may agree to provide short-term finance, they are generally unwilling to
provide money on a __25 _ basis for long-term projects. So companies __26  the public,
inviting people to lend them money, __27 take a share in future profits. This they do by _ 28
stocks and shares of their business in a stock exchange. By doing so they can _ 29  use the

savings of individuals and institutions, both at home and overseas, when the inventor needs his
money back, he does not have to go to the company with whom he __30  placedit. _ 31  he
sells his shares through a stockbroker to some other person who is seeking to _32  his money.
Many of the services needed __33 by industry and by each of us are provided by the
government or by local authorities. Without hospitals, roads, electricity, telephones, railways, etc,
this country could not __34 . All these require continuous spending on new equipment and new
development if they are to serve us properly, requiring more money that _ 35 through taxes
alone. The government, local authorities, and nationalized industries __ 36 frequently need to
borrow money to finance major capital spending, and they, too, come to a stock exchange.

There is __37  a man or woman in this country __38  job standard of living does not
depend on the ability of his or her employers to raise money to finance new development. In one
way or __39  this new money must come from the investment funds of the country. Stock
exchanges exist to provide a __40  through which these funds can reach those who need
financing.



21. [A] at large [B] at length [C] detail [D] at last
22.[A]in [B] on [C] for [D] with

23. [A] expectation [B] perspective [C] prospect {D] prosperity
24 [A]if [B] even if [C] when [D] while

25. [A] potential [B] perpetual [C] patent [D] permanent
26. [A] turn to [B] turn up {C] turn out [D] turn down
27.[A] and [B]or [C] also [D] and then

28. [A] publishing

[B] granting

[C] issuing

[D] delivering

29. [A] put off [B] put into [C] put away {D] put aside
30. [A] originally (B] primitively [C} formally [D] formerly
31.[A]} Indeed [B] Instead [C] Nevertheless  [D] Yet

32. [A] finance [B] offer [C] invest {D] mortgage
33. [A] both [B] each [C]all [D] either
34. [A] operated {B] manipulate {C] handie [D] function
35. [A] raised [B] raising [C] be raised [D] is raised
36. [A] thus [B] nevertheless  [C] therefore [D] hence
37. [A] hardly [B] quite [C] almost [D] nearly
38. [A] who’s {B] whose [C] which [D] that

39. [A] or other
40. [A] access

[B} and some other [C] or another [D] or others

[B] passage {C] way [D] channel

Section Il Reading Comprehension

% Part A

Directions:

Read the following four texts. Answer the questions below each by choosing A, B, C or D. Mark
your answer on ANSWER SHEET 1. (40 points)

Text 1

A hundred years ago, it was assumed and scientifically “proved” by economists that the laws
of society made it necessary to have a vast army of poor and jobless people in order to keep the
economy going. Today anybody would dare to voice this principle. It is generally accepted that
nobody should be excluded from the wealth of the nation, either by the laws of nature or by those
of society. The opinions, which were current a hundred years ago, that the poor owed their
conditions to their ignorance, lack of responsibility, are outdated. In all western industrialized
countries, a system of insurance has been introduced which guarantees everyone a minimum of
subsistence in case of unemployment, sickness and old age. I would go one step further and argue
that, even if these conditions are not present, everyone has the right to receive the means to subsist,
in other words, he can claim this subsistence minimum without having to have any “reason”. |
would suggest, however, that it should be limited to a definite period of time, let’s say two years, so
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as to avoid the encouraging of an abnormal attitude, which refuses any kind of social obligation.

This may sound like a fantastic proposal, but so , I think, our insurance system would have
sounded to people a hundred years ago. The main objection to such a scheme would be that if each
person were entitled to receive minimum support, people would not work. This assumption rests on
the fallacy of the inherent laziness in human nature, actually, aside from abnormally lazy people,
there would be very few who would not want to earn more than minimum, and who would prefer to
do nothing rather than work.

However, the suspicions against a system of guaranteed subsistence minimum are not
groundless from the standpoint of those who want to use ownership of capital for the purpose of
forcing others to accept the work conditions they offer. If nobody were forced to accept work in
order nat to starve, work would have to be sufficiently interesting and attractive to induce one to
accept it. Freedom of contract is possible only if both parties are free to accept and reject it; in the
present capitalist system this is not the case.

But such a system would not only be the beginning of real freedom of contract between
employers and employees, its principal advantage would be the improvement of freedom in
interpersonal relationships in every sphere of daily life.

41. Which of the following does NOT seem to be true of people’s opinions a hundred years ago?
[A] It was necessary to have a lot of poor and jobless people.
[B] Some people should be excluded from the wealth of the nation.
[C] The poor should attribute their conditions to their own fault.
{D] Minimum subsistence should be granted to the poor.

42. The subsistence minimum should be limited to a period because

[A] people may adopt a negative attitude toward social obligation.
[B] the government cannot afford too much subsistence.
[C] the country must be industrialized as quickly as possible.
[D] not all the poor have any reason to claim this subsistence.
43. The opponents of a system of guaranteed subsistence minimum
[A] definitely believe in the inherent laziness in human nature.
[B] may want to force others to accept unfavorable work with the capital.
[C] are mainly government officials who are old-fashioned.
(D] think it necessary to develop the economy by pushing people.
44. The main advantage of a system of guaranteed subsistence is
[{A] free contract.
[B] more stable society.
[C] more freedom in interpersonal relationships.
[D] less burden on the government.
45. Which of the following can be the best title of the text?
[A] On a System of Guaranteed Subsistence Minimum.
[B] On Government Support.



[C] Improving the People’s Conditions.
[D] Inherent Laziness in Human Nature.

Text 2

To say that the child learns by imitation and that the way to teach is to set a good exampie
oversimplifies. No child imitates every action he sees. Sometimes, the example the parent wants
him to follow is ignored while he takes over contrary patterns form some other example. Therefore,
we must turn to a more subtle theory than “Monkey see, monkey do.”

Look at it from the child’s point of -view. Here he is in a new situation, lacking a ready
response. He is seeking a response, which will gain certain ends. If he lacks a ready response for
the situation, and cannot reason out what to do, he observes a model who can show what to do.

There is a second element at work in this situation. The child may be to attain his immediate
goal only to find that his method brings criticism from people who observe him., When shouting
across the house achieves his immediate end of delivering a message, he is told emphatically that
such a racket is unpleasant, that he should walk into the next room and say his say quietly. Thus,
the desire to solve any objective situation is overlaid with the desire to solve it properly. One of the
early things the child learns is that he gets more affection and approval when his parents like his
response. Then other adults reward some actions and criticize others. If one is to maintain the
support of others and his own self-respect, he must adopt responses his social group approves.

In finding trial responses, the learner does not choose models at random. He imitates the
person who seems a good person to be like, rather than a person whose social status he wishes to
avoid. 1f the pupil wants to be a good violinist, he will observe and try to copy the techniques of
capable player; while some person may most influence his approach to books.

Admiration of one quality often leads us to admire a person as a whole, and he becomes an
identifying figure. We use some people as model over a wide range of situations, imitating much
that they do. We learn that they are dependable and rewarding models because imitating them leads
to success.

46. The statement that children learn by imitation is incomplete because_____
[A] they only imitate authorities and experts.
[B] they are not willing to copy their parents.
[C] the process of identification has been ignored.
[D] the nature of their imitation as a form of behavior has been neglected.
47. For a child the first element in his learning by imitations is
[A] the need to find an authority.
[B] the need to find a way to achieve the desired result.

[C] the need for more affection from his parents.
[D] the desire to meet the standard of his social group.

48. Apart from achieving his desired results a child should also learn to
[A] behave properly.




[B] show his affection for his parents.
[C] attain his goal as soon as possible.
[D] talk quietly.
49. Children tend to imitate their models,
[A] who do not criticize them.
[B] who bring them unexpected rewards.
[C] whom they want to be like.
[D] whose social status is high.
50. **an identifying figure” (Line 2, Para. 5) refers to a person
A] who serves as a model for others.

(

[B] who is always successful.
[C] who can be depended upon.
[

D] who has been rewarded for his success.

Text 3

During the 1980s, children slipped into poverty faster than any other age group and Hispanic-
American children slipped the fastest. More than one out of three Hispanic-American children are
poor. The specific country of origin is significant; the child poverty rate is 48 percent for Puerto
Ricans, 37 percent for Mexicans, 26 percent for central and south Americans, and 24 percent for
Cubans, although the poverty rate grew fastest among Hispanic-American children, the proportion
of African-American children who are poor, 43 percent, is still higher. At 14 percent, the poverty
rate among white children is the lowest.

Why is child poverty growing fastest among Hispanic Americans? Several factors have been
identified; among them low education and low-paying jobs among parents, and increase in divorce,
an increase in households headed by females, discrimination, a greater likelihood that the head of
the family is under thirty and a higher than average number of children in each household.

According to sociologist and United States Senate Daniel Moynihan, the overall increase in
child poverty is due to a general breakdown in the American family, specifically a continuing
increase in the rate of births outside marriage, which parallels the rate of child poverty. The overall
rate of out-of-wedlock births, 26 percent, breaks down into 18 percent for whites and 64 percent for
nonwhites. In 1960 only 5 percent of all children were born to unmarried mothers.

Regardless of causes -and there are many—the statement that children live in poverty can be
as cold and meaningless as saying that their shoes are brown. Easy to overlook is the significance
of this poverty. Poor children are more likely to die in infancy, to get malnourished, to develop
more slowly, and to have more health problems. They are more likely to drop out of school, to
become involved in criminal activities, and to have children while still in their teens—thus
perpetuating the cycle of poverty.

Many social analysts—liberals and conservatives alike-- are alarmed at the increase in child
poverty in this country, believing that at the current overall rate child poverty represents a new
social condition. They emphasize that it is time to stop blaming the victim, identify instead the
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structural factors that underling child poverty, and relieve the problem by taking immediate steps to
establish national programs of child nutrition and health care. Solutions, however, require
fundamental changes: (1) removing obstacles to employment; (2) improving education; and (3)

strengthening the family.

51. Which of the following groups of children accounts for the largest proportion of poor children?
[A] Hispanic-American children.
[B] African-American children.
[C] White-American children.
[D] Children of Asian-American children.
52. Which of the following is not a factor leading to increased child poverty?
[A] The number of children in each family.
[B] The increased rate of births outside marriage.
[C] The increased divorce rate.
[D] The females’ increased power over household affairs.
53. In the third paragraph, “out-of-wedlock births” referto__
[A] children born to unmarried mothers.
[B] births that are not expected by the parents.
[C] births that lead to the breakdown of the family.
[D] children born in a hospital rather than at home.
54. By saying that “the statement that children live in poverty can be as cold and meaningless as
saying that their shoes are brown” (para. 4), the author really means that___
[A] sociologists should care more about what shoes poor children wear.
[B} people should fully realize the consequences of child poverty.
[C] children’s wearing brown shoes is not a sure sign of poverty.
[D] those who admit more and more children live in poverty ignore its causes.
55. It is implied in the last paragraph that_____
[A] child poverty is a social rather than individual issue to be tackled.
[B] most social analysts are not aware of the increase in child poverty.
[C] child poverty is an issue about which we can do almost nothing.
[D] removing obstacles to employment is the most effective way of fighting child poverty.

Text 4

Revenge is one of those things that everyone enjoys. People don’t like to talk about it, though.
Just the same, there is nothing more satisfying or more rewarding than revenge. The purpose is not
to harm your victims but to let them know that you are upset about something that they are doing to
you. Careful plotting can provide you with relief from bothersome coworkers, gossiping friends, or
nagging family members.

Coworkers who make comments about the fact that you are always fifteen minutes late for
work can be taken care of very simply. All you have to do is get up extra early one day. Before the
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sun comes up, drive to each coworker’s house. Reach under the hood of your coworker’s car and
disconnect the center wire that leads to the distributor cap, the car will be unharmed, but it will not
start and your friends at work will all be late for work on the same day. If you’re lucky, your boss
might notice that you are the only one there and will give you a raise.

Gossiping friends at school are also perfect targets for a simple act of revenge. A way to trap
either male or female friends is to leave phony messages on their lockers. If the friend that you
want to get is male, leave a message that a certain girl would like him to stop by her house later that
day. With any luck, her boyfriend will be there. The girl won’t know what’s going on, and the
victim will be so embarrassed that he probably won’t leave his home for a month.

When Mom and Dad and your sisters and brothers really begin to annoy you, harmless
revenge may be just the way to make them quiet down for a while. The dinner table is a likely
place. Just before the meal begins, throw a handful of raisins into the food. Wait about five minutes
and, after everyone has begun to eat, cover your mouth with your hand and begin to make odd
noises. When they ask you what the matter is, point to a raisin and yell, “bugs!” they’ll dump their
food in the disposal, jump into the car, and head for McDonald’s. That night, you’ll have your first
quiet, peaceful meal in a long time.

A well-planned revenge does not have to hurt anyone. The object is simply to let other people
know that they are beginning to bother you.

56. According to the passage, a harmless revenge is______
[A] to amuse the victim.
[B] to react to those who bother you.
[C] to prevent one from disturbing others.
[D] to hurt nobody emotionally.
57. As a harmless revenge, you might come first and get a raise by
[A] making your colleagues come late.
[B] getting up earlier than your colleagues.
[C] destroying your colleagues’ cars.
[D] pleasing your boss.
58. Which of the following statements is TRUE according to the second example?
[A] The girl received a phony message.
[B] The victim was invited by the girl.
[C] The girl managed to revenge the victim harmlessly.
[D] The girl wasn’t expecting the victim.
59. The family members dumped their food in the disposal because
[A] they thought their food had been spoiled.
[B] they wanted to eat out.

[C] they wanted to have a peaceful meal.
[D] they didn’t like the food with raisins.
60. The main topic of the passage is how to
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[A] avoid nagging family members.
[B] silence gossiping friends.

[C] make a harmless revenge.

[D] deal with bothersome coworkers.

% PartB

Directions:

Read the following text carefully and then translate the underlined segments into Chinese. Your
translation should be written clearly on ANSWER SHEET 2. (10 points)

61. It should be said, however, that this process of internationalization of science has been

going on already for a long time in a hidden form, and what we realized today is simply the

necessity of a better and more systematic institutionalization of an old process.

62. 1 believe that the rising complexity of scientific research is now imperatively demanding

new steps, which can ensure that international involvement moves to more organized and better-

planned structure.

63. Only in this way could one make sure that all the free energy potentially present in the

form of human resources is channeled effectively with in a wider cooperative organization amongst

friendly nation.
64. This extended cooperation must be intended not to limit but to enhance mobility of ideas

and freedom of the scientists within the system. One has to encourage science, not to try to harness

it with bureaucracy.

65. It is primary responsibility of society to put the scientific community in the most effective

conditions to produce new knowledge, which is absolutely essential to the progress of the western

world in particular and mankind in general. And today this relies inevitably on increasingly

organized international scientific cooperation.

Long-lasting ties have been established for a long time between the old and the new continents.
Recently, a new element has started to play an increasing role. Modern Japan and other Oriental
countries are emerging with the irresistible urge for better standards of living and a novel, powerful
role in the world’s economy.

To our view, the future belongs to those who will know how to perceive the mysterious
borderline, which separates the ugly from the beautiful. This philosophy had dominated most of the
great civilizations of the past and fundamentally our own western way of looking at the world.

Section IV Writing

Directions:
Study the following figure carefully and write an essay on “Sharp Increase In World Population™.
You should write about 200 words neatly on ANSWER SHEET 2. (20 points)



